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QUESTION 1
What statement about statistics rules on Nuage VCS is FALSE?

A. Users can define statistics rules for domain/zones/subnets/vPorts. The rule applied to the most granular object is the
one used.

B. Statistics are collected in an Elasticsearch statistics engine and are aggregated over hours, days, and months.
C. Statistics are pushed from VRS up to VSC, which in turn sends them to the VSD stats engine.
D. When a TCA threshlod is exceeded, an event is displayed in the Ul and a message is sent on the JMS bus.

Correct Answer: A

QUESTION 2

What occurrence is NOT a problem facing a traditional data center network?
A. High packet loss due to the use of the 3-tier hierarchy.

B. Sub-optimal traffic flow.

C. About half of the bandwidth is not used due to links being disabled by STP.
D. High latency for some applications.

Correct Answer: B

Reference: https://nsl.cs.sfu.ca/teaching/13/880/surveyVirtualization.pdf

QUESTION 3

Which of the following interfaces does NOT belong to the underlay network?
A. Interface on VSD

B. “Control” interface on VSC

C. Openflow interface on VSC

D. Hypervisor interfaces carrying VXLAN traffic.

Correct Answer: B

QUESTION 4

Latest 4A0-NO1 Dumps | 4A0-NO1 Practice Test | 4A0-NO1 Exam Questions 2/3


https://www.geekcert.com/4a0-n01.html
https://www.geekcert.com/4a0-n01.html
https://www.geekcert.com/4a0-n01.html

VCE & PDF https://lwww.geekcert.com/4a0-n01.html
2024 Latest geekcert 4A0-NO1 PDF and VCE dumps Download

GeekCert.com

Which mapping between a VSD service abstraction and an overlay service instance is correct?
A. Domain- VPRN service instance

B. Zone-VPLS service instance

C. Subnet-VPRN service instance

D. Virtual machine -SAP

Correct Answer: A

Reference: https://matscloud.blogspot.com/2017/06/nuage-networks-vsp-deep-dive.html

QUESTION 5

What statement regarding Openflow sessions in data center networks is TRUE?

A. By default, the Openflow session is established with TCP port 6633.

B. Openflow sessions run between VSCs.

C. Security in mandatory with SSL encryption.

D. Openflow sessions can be established over either the data plane or the management plane.
Correct Answer: C

SSL (Secure Sockets Layer) is the standard security.
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